
(1) 𝑛𝑜𝑖0,1 = 𝑚𝑟𝑣0

𝑛𝑜𝑖
𝑚𝑟𝑣



𝑟𝑖%
𝑚𝑟𝑣%

(2) {

𝑛𝑜𝑖1,2 = 𝑟𝑟𝑒𝑛𝑡1,2
𝑚𝑟𝑣1 = 𝑚𝑟𝑣0. (1 + 𝑚𝑟𝑣%)

𝑟𝑟𝑒𝑛𝑡1,2 =  𝑟𝑟𝑒𝑛𝑡0,1. (1 + 𝑟𝑖%) = 𝑚𝑟𝑣0. (1 + 𝑟𝑖%)

𝑟𝑟𝑒𝑛𝑡

(3) {

𝑛𝑜𝑖2,3 = 𝑟𝑟𝑒𝑛𝑡2,3
𝑚𝑟𝑣2 = 𝑚𝑟𝑣1. (1 + 𝑚𝑟𝑣%) = 𝑚𝑟𝑣0. (1 + 𝑚𝑟𝑣%)

2

𝑟𝑟𝑒𝑛𝑡2,3 =  𝑟𝑒𝑛𝑡1,2. (1 + 𝑟𝑖) = 𝑚𝑟𝑣0. (1 + 𝑟𝑖)
2

(4) 

{
 
 

 
 𝒊𝒇  𝑚𝑟𝑣3 > 𝑟𝑟𝑒𝑛𝑡3,4  𝒕𝒉𝒆𝒏  𝑛𝑜𝑖3,4 = 𝑟𝑟𝑒𝑛𝑡3,4

𝒊𝒇  𝑚𝑟𝑣3 < 𝑟𝑟𝑒𝑛𝑡3,4  𝒕𝒉𝒆𝒏  𝑛𝑜𝑖3,4 = 𝑚𝑟𝑣3
𝑚𝑟𝑣3 = 𝑚𝑟𝑣2. (1 + 𝑚𝑟𝑣%) = 𝑚𝑟𝑣0. (1 + 𝑚𝑟𝑣%)

3

𝑟𝑟𝑒𝑛𝑡3,4 =  𝑟𝑟𝑒𝑛𝑡2,3. (1 + 𝑟𝑖%) = 𝑚𝑟𝑣0. (1 + 𝑟𝑖%)
3



Period rrent (ri%=2%) mrv (mrv%=2%) noi noi% 

1 100,0 100,0 100,0   

2 102,0 102,0 102,0 2,0 

3 104,0 104,0 104,0 2,0 

4 106,1 106,1 106,1 2,0 

5 108,2 108,2 108,2 2,0 

6 110,4 110,4 110,4 2,0 

7 112,6 112,6 112,6 2,0 

8 114,9 114,9 114,9 2,0 

9 117,2 117,2 117,2 2,0 

10 119,5 119,5 119,5 2,0 

(𝑟𝑖% = 𝑚𝑟𝑣%)

(5) 𝑛𝑜𝑖% = 𝑟𝑖%



Period rrent (ri%=2%) mrv (mrv%=3%) noi noi% 

1 100,0 100,0 100,0   

2 102,0 103,0 102,0 2,0 

3 104,0 106,1 104,0 2,0 

4 106,1 109,3 106,1 2,0 

5 108,2 112,6 108,2 2,0 

6 110,4 115,9 110,4 2,0 

7 112,6 119,4 112,6 2,0 

8 114,9 123,0 114,9 2,0 

9 117,2 126,7 117,2 2,0 

10 119,5 130,5 119,5 2,0 

(𝑟𝑖% < 𝑚𝑟𝑣%)

(6) 𝑛𝑜𝑖% = 𝑟𝑖%



Period rrent (ri%=2%) mrv (mrv%=3%) noi noi% 

1 100,0 100,0 100,0   

2 103,0 102,0 103,0 3,0 

3 106,1 104,0 106,1 3,0 

4 109,3 106,1 106,1 0,0 

5 109,3 108,2 109,3 3,0 

6 112,6 110,4 112,6 3,0 

7 116,0 112,6 112,6 0,0 

8 116,0 114,9 116,0 3,0 

9 119,5 117,2 119,5 3,0 

10 123,1 119,5 119,5 0,0 

(𝐫𝒊% > 𝒎𝒓𝒗%)




